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Run 5936 quartetwise, posH(O: Beam DH

Laser ON Entries: 42424 Entries: 49210 aam1_1ach._pocHo
— Mean: 12,9781 +- 0.0046 Mean: 2.5714 «- 0.0012 49210
— Laser OFF Std Dev: 0.9418 +/- 0.0032 | Std Dev: 0.2747 +- 0.0009 2.571
~ S0 DBV 0.2747
B | | | I | | | | 1 I | | | | | | | | | | 1 |
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Run 5936 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 42424 Entries: 49210
- Mean: -31.8076 - 0.1140 Mean: 0.0365 «- 0.06B5
— Laser OFF Std Dev: 236568 +- 0.0812 | Std Dev: 15.2028 +- 0.0485
— | L1 R
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Run 5936 quartetwise, negHO: Beam DIN

Positive Hel (ON): 12.978112 +/- 0.004573
Negative Hel (ON): 13.661855 +/- 0.004851
Positive Hel (OFF): 2.571426 +/- 0.001238
Negative Hel (OFF): 2.570641 +/- 0.001240
-------- Sums and Diffs
On Diff: -0.683743 +/- 0.002452
Off Diff: 0.000785 +/- 0.001473
On Sum: 26.639968 +/- 0.009103
Off Sum: 5.142067 +/- 0.001993
-------- Asymmetries
On Asym: -31.805111 +/- -0.114903 (ppt)
Off Asym: 0.036512 +/- 0.068533 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 21.497901 +/- 0.009319
BkSub Asym: -31.841623 +/- 0.133789 (ppt)

— Laser ON Entries: 42424 Entries: 49210 aomi_lach_nagha
- Mean: 13,6619 +/- 0.0048 Mean: 2.5706 /- 0.0012 49210
[ Laser OFF Std Dev: 0.9992 +- 0.0034 | Std Dev: 0.2752 +- 0.0008 2.571
— oo 0.2752
[ | | | | | | 1 | | I | | | | | 1 | I | | | |
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-------- Histogram Vars
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Run 5936 quartetwise, posHO vs time
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Run 5936 quartetwise, asym0Osub vs time
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Run 5936 quartetwise, negHO0 vs time
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Run 5936 quartetwise, bcm vs time
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